MATHS

BOOKS - SURA MATHS (TAMIL ENGLISH)

COORDINATE GEOMETRY

1. Plot the following points in the coordinate system
and identify the quadrants

P( o 77 6)7 Q(77 o 2)7 R( o 67 o 7)8(37 5) and T(37 9)

.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5CdKtA5jVvvy

| ¥ vvatch vVideo sSolution J

2. Plot the following points in the coordinate plane
and join them. What is the your conclusion about the
resulting figure ?

(i) (-5,3)(-1,3)(0,3) (5,3) (ii) (0,-4) (0,-2)(0,4) (0,5)

0 Watch Video Solution

3. Plot the following points in the plane . Join them in
order . What type of geometircal shape is formed ?

(i) (0,0),(-4,0)(-4,-4) (ii) (-3,3) (3,3),(-6,1)(5,1)

° Watch Video Solution



https://dl.doubtnut.com/l/_5CdKtA5jVvvy
https://dl.doubtnut.com/l/_85lA95j4Lln1
https://dl.doubtnut.com/l/_8Dg312EGRuN1

1. Find the distance between the following pairs of

points .

A. (1,2) and (4,3)

B. (3,4) and (7,2)

C.(a,b) and (c,d)

D. (3,9) and (-2,3)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_zRvPWFBUreR3
https://dl.doubtnut.com/l/_eTo14v616dT6

2. Determine whether the give set of points in each

case are collinear or not.

(I) (79_2)a(5,1)a(3’4) (“) (8,'2),(3,3)(8,0)

o Watch Video Solution

3. Show that the folloiwng points taken in order form
an isosceles triangle .

(i) A(5,4), B (2,0),C(-2,3) (ii) A(6,4),B(-2,-4),C(2,10)

o Watch Video Solution

4. Show that the following points taken in order form

an equilateral triangle in each case .


https://dl.doubtnut.com/l/_eTo14v616dT6
https://dl.doubtnut.com/l/_lhn6Aa6ug9JV
https://dl.doubtnut.com/l/_C3xEb8NYPYPl

(i) A(2,2),B(-2, —2),C—23,2/3) (ii)

A(v/3,2), B(0,1), C(0, 3)

° Watch Video Solution

5. Show that the following points taken in order form
the vertices of a parallelogram.
(I) A(_3’1) ’ B(_69_7) ,C(3’_9) and D(6’_1)

(i) A(-7,-3),B(5,10),C(15,8) and D(3,-5)

° Watch Video Solution

6. Verifgy that the following points taken in order form

the vertices of a rhombus.


https://dl.doubtnut.com/l/_C3xEb8NYPYPl
https://dl.doubtnut.com/l/_oJJYMU3pz29u
https://dl.doubtnut.com/l/_751D6LmhjDu1

A(3,-2),B(7,6),C(-1,2) and D(-5,-6)

° Watch Video Solution

7. Verifgy that the following points taken in order form
the vertices of a rhombus.

A(1,1),B(2,1),C(2,2) and D(1,2)

° Watch Video Solution

8.1f A(-1,1) , B(1,3) and C(3,a) are points and if AB = BC,

then

° Watch Video Solution



https://dl.doubtnut.com/l/_751D6LmhjDu1
https://dl.doubtnut.com/l/_WW193njKyPmZ
https://dl.doubtnut.com/l/_jqFxgv08BqPN

9. The absicssa of point A is equal to its ordinate , and
its distance form the point B(1,3) is 10 units , what are

the coordinates of A ?

° Watch Video Solution

10. The points (xy) is equidistant from the points (3,4)

and (-5,6) . Find a relation between x and y.

° Watch Video Solution

11. Let A(2,3) and B(2,-4) be two points. If P lie on the x -

3
axis , such that AP = 7AB, Find the coordinate of P.



https://dl.doubtnut.com/l/_sEjXsIT0Mlh8
https://dl.doubtnut.com/l/_TXxZTnc15wlI
https://dl.doubtnut.com/l/_UKn0zN0iySw1

\ o Watch Video Solution

12. Show that the point (11,2) is the centre of the circle

passing through the points (1,2),(3,-4) and (5,-6).

° Watch Video Solution

13. The radius of a circle with centre at origin is 30
units. Write the coordinates of the points where the
circle intersects the axes. Find the distance between

any two such points.

o Watch Video Solution



https://dl.doubtnut.com/l/_UKn0zN0iySw1
https://dl.doubtnut.com/l/_MdUV5ljE1dtt
https://dl.doubtnut.com/l/_MckYcpFXYoCk

1. Find the mid points of the line segment joining the

points .

A. (-2,3) and (-6,-5)
B. (8,-2) and (-8,0)

C.(a,b) and (a+2b,2a-b)
1 3 3 —11
D. (E, 7) and (E, T)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_tBFk4MJjzkjJ
https://dl.doubtnut.com/l/_GtL7pmmHoBoM

2. The centre of a cirlce is (-4,2) . If one end of the

diameter of the circle is (-3,7) tehn find the other end.

° Watch Video Solution

3. If the mid-point (x,y) of the line joining (3,4) and
(p,7) lie on 2z + 2y + 1 = 0 then what will be the

value of P ?

° Watch Video Solution

4. The midpoint of the sides of a triangle are (2,4)
(-2,3) and (5,2) .Find the corrdinate of the vertices of

the triangle .


https://dl.doubtnut.com/l/_GtL7pmmHoBoM
https://dl.doubtnut.com/l/_gQk4gcVk17qx
https://dl.doubtnut.com/l/_N0KLmP9Ssm6n

° Watch Video Solution

5. 0(0,0) is the centre of a circle whose one chord is
AB, where the points A and B are (8,6) and (10,0)
respectively. OD is the perpendicular form the centre
of the chord AB. Find the coordinates of the midpoint

of OD.

o Watch Video Solution

6. The points A(-5,4), B(-1,-2) and C(5,2) are the vertices

of an isosceles right angled trinagle where the right


https://dl.doubtnut.com/l/_N0KLmP9Ssm6n
https://dl.doubtnut.com/l/_M2JjLSzCM2Is
https://dl.doubtnut.com/l/_tJKXTxxUtawV

angle is at B. Find the corrdinates of D so that ABCD is

a square .

° Watch Video Solution

7.A(-3,2),B(3,2) and C(-3,-2) are the vertices of the right
trinagle ,right angled at A. Show that the mid point of

the hypotenus is equidistant form the vertices.

° Watch Video Solution



https://dl.doubtnut.com/l/_tJKXTxxUtawV
https://dl.doubtnut.com/l/_LRYwRnEnxyxO

1. Find the coordinate of the point of the point which
divides the line segment joining the points A(4,-3) and

B(9,7) in the ratio 3:2.

° Watch Video Solution

2. In what ratio does the point P(2,-5) divide the line

segment joinig A(-3,5) and B(4,9).

° Watch Video Solution

3. Find the coordinate of a point P on the line segment

2
joinig A(1,2) and B(6,7) in such a way that AP = 5 AB.



https://dl.doubtnut.com/l/_EqyskgWzk1Tp
https://dl.doubtnut.com/l/_Zn1PRY1Inkr3
https://dl.doubtnut.com/l/_RQcTmDFSrFRy

\ o Watch Video Solution

4. Find the corrdinate of the points of trisection of the

line segment joining the points A (-5,6) and B(4,-3).

° Watch Video Solution

5. The line segment joining A(6,3) and B(-1,-4) is
doubled in length by adding half of AB to each . Find

the coordinates of the new end points .

o Watch Video Solution



https://dl.doubtnut.com/l/_RQcTmDFSrFRy
https://dl.doubtnut.com/l/_CHxRlPvKpOdW
https://dl.doubtnut.com/l/_1egeNF09s0tD

6. Using section formula , show that the points

A(7,-5),B(9,-3) and C(13,1) are colliner.

° Watch Video Solution

7. A line segment AB is increased along its length by
25% by producing it to C on the side of B. If A and B
have the coordinates (-2,-3) and (2,1) respectively ,then

find the coordinates of C.

° Watch Video Solution



https://dl.doubtnut.com/l/_2J2uBaIrIesO
https://dl.doubtnut.com/l/_IPb6qlPtAT30
https://dl.doubtnut.com/l/_iaBoYPAWLHqX

1. Find the centroid of the the triangle whose vertices
are.

(2,-4),(-3,77) and(7,2)

° Watch Video Solution

2.Find the centroid of the triangle whose vertices are

(-5,-5), (1,-4) and (-4,-2).

° Watch Video Solution

3. If the centroide of a triangle is at (4,-2) and two of

its vertices are (3,-2) and ( 5,2) then find the thrid


https://dl.doubtnut.com/l/_iaBoYPAWLHqX
https://dl.doubtnut.com/l/_CUGISHxzjzvo
https://dl.doubtnut.com/l/_zQvj74dL2qD7

vertex of the triangle .

° Watch Video Solution

4. Find the length of median through A of a triangle

whose vertices are A(-1,3),B(1,-1) and C(5,1).

° Watch Video Solution

5. The vertices of a triangle are (1,2),(h-3) and (-4 k) . If

the centroid of the triangle is at the point (5,-1) then

find value of y/(h + k)? + (h + 3k)?

° Watch Video Solution



https://dl.doubtnut.com/l/_zQvj74dL2qD7
https://dl.doubtnut.com/l/_koz0XGVZ6XtQ
https://dl.doubtnut.com/l/_zAolRPnmhKmB

1. If the y - coordinate of a point is zero, then the point

always lies

A.in the | quadrant

B.in the Il quardant

C.on x - axis

D. on y -axis

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dadxutSdULSb
https://dl.doubtnut.com/l/_d1x6XUrNBMyd

2.The point (-5,2) and (2,-5) lie in the

A. same quadrant

B. Il and Ill quadrant respectively

C. Il and IV quadrant respectively

D. IV and Il quadrant respectively

Answer:

° Watch Video Solution

3. On plotting the points 0(0,0),A(3,-4),B(3,4) and
C(0,4) and joining OA, AB ,BC and CO , which of the

following figure is obtained ?


https://dl.doubtnut.com/l/_d1x6XUrNBMyd
https://dl.doubtnut.com/l/_fFXl5RNs5I3F

A. Square

B. Rectangle

C. Trapezium

D. Rhombus

Answer:

o Watch Video Solution

4. If P(-1,1),Q0(3,-4), R(1,-1),5(-2,-3) and T(-4,4) are plotted
on a graph paper , then the point in the fourth

quardant are _

A.PandT


https://dl.doubtnut.com/l/_fFXl5RNs5I3F
https://dl.doubtnut.com/l/_ooI85Lm6VIeg

B.QandR

C.onlyS

D.Pand Q

Answer:

° Watch Video Solution

5. The point whose ordinate is 4 and which lies on the

y - axis is

A. (4,0)

B. (0,4)

C.(1,4)


https://dl.doubtnut.com/l/_ooI85Lm6VIeg
https://dl.doubtnut.com/l/_2C20zpS3zcI4

D. (4,2)

Answer:

o Watch Video Solution

6. The distance between the two points (2,3) and (1,4)


https://dl.doubtnut.com/l/_2C20zpS3zcI4
https://dl.doubtnut.com/l/_DDtfv4fl0TFY

Answer:

° Watch Video Solution

7. If the point A(2,0),B (-6,0), C(3,a-3) lie on the x-axis

then the value of a is

A.O
B.2

C.3

Answer:

[ ° Wiak~hh \NAAA CAliikian



https://dl.doubtnut.com/l/_DDtfv4fl0TFY
https://dl.doubtnut.com/l/_phPjvjFtLE5o

L YVOULAIL VIMGY JVIVGIVIE

8.1f (z + 2,4) = (5, y — 2) then the co - ordinates

A.(7,12)
B. (6,3)
C.(3,6)

D. (2,1)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_phPjvjFtLE5o
https://dl.doubtnut.com/l/_I8qikdCd5ZcJ

9. If Q1, Q2, Q3, Q4 are the quadrants in a Cartesian

plane then Q5 N Q3 is

A Q1 UQ,

B.Q> U Qs

C. Null set

D. Negative x -axis

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ReK650cyr3uM

10. The distance between the point (5,1) and the

origin is

A. /24
B. /37
C. /26

D. /17

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dmPMHd2YIFuH

1. The coordinates of the ponit C dividing the line
segment joining the point P(2,4) abd Q(5,7) internally

in the ratio 2 :1.

(3)
B. (3, 5)

C. (4, 4)

D. (4, 6)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hNY1YGoxw5Xy

b
12.1f P (%, 5) is the mid - point of the line segment

joining A(-4,3) and B(-2,4) then (a,b) is

A(—97)
o3,
C.(9, —7)
0.3+
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_O0uyfxwW2Bha

13. In what ratio does the point Q(1,6) divide the line

segment joining the points P(2,7) and R(-2,3).

Al1:2

B.2:1

C.1:3

D.3:1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Fq44E6o49aqz

14. If the coordinate of one end of a diameter of a
circle is (3,4) and the coordinates of its centre is (-3,2)

then the coordinate of the other end of the diameter

A. (0,3)

B.(0,9)

C.(3,0)

D. (-9,0)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_cW3XCmReXXEZ
https://dl.doubtnut.com/l/_LHVTpO7PMShG

15. The ratio in which the x-axis divides the line

segment joining the points (6,4) and (1,7) is .

A2:3

B.3:4

C.4:7

D.4:3

Answer:

o Watch Video Solution

16. If the coordinate of the mid - point of the sides AB,

BC and CA of a trinagle are (3,4) (1,1) and (2,-3)


https://dl.doubtnut.com/l/_LHVTpO7PMShG
https://dl.doubtnut.com/l/_E2i6HMOkTzlS

respectively , then the vertice A and B of the triangle

are.

A. (3,2),(2,4)

B. (4,0),(2,8)

C. (3,4),(2,0)

D. (4,3),(2,4)

Answer:

o Watch Video Solution

17. The mid-point of the line joining (-a, 2b) and (-3a,

-4b) is


https://dl.doubtnut.com/l/_E2i6HMOkTzlS
https://dl.doubtnut.com/l/_TdSCSqh1ZsGi

A. (2a,3b)

B. (-2a,-b)

C.(2a,b)

D. (-2a,-3b)

Answer:

° Watch Video Solution

18. In what ratio does the y-axis divides the line joining

the point (-5,1) and (2,3) internally.

Al:3

B.2:5


https://dl.doubtnut.com/l/_TdSCSqh1ZsGi
https://dl.doubtnut.com/l/_aU3AVYESf54j

C.3:1

D.5:2

Answer:

° Watch Video Solution

19. If (1,-2),(3,6),(x,10) and (3,2) are the vertices of the

parallelogram taken in order , then the value of x is .

A.6

B.5

C.4

D.3


https://dl.doubtnut.com/l/_aU3AVYESf54j
https://dl.doubtnut.com/l/_5ZjimYslN7uM

Answer:

° Watch Video Solution

Additional Questions And Answers Exercise 5 1 True False

1.(5,7) is a point in the IV quadrant .

° Watch Video Solution

2.(-2,77) is a point in the lllquadrant.

° Watch Video Solution



https://dl.doubtnut.com/l/_5ZjimYslN7uM
https://dl.doubtnut.com/l/_p8Xpk11wqT9k
https://dl.doubtnut.com/l/_52E8Bld4fjIt
https://dl.doubtnut.com/l/_lO9XS3PdIdON

3. (8,7) lies below the x-axis .

° Watch Video Solution

4.(-2,3) lies in the Il quadrant.

° Watch Video Solution

5. State whether the following statement is
true/false:For any point on the x-axis its y - coordinate

IS zero.

° Watch Video Solution



https://dl.doubtnut.com/l/_lO9XS3PdIdON
https://dl.doubtnut.com/l/_CBOc9cFMZetz
https://dl.doubtnut.com/l/_ybtNEKTIOYBG

Additional Questions And Answers Exercise 5 1

1. Locate the point (i) (3,5) and (5,3) (ii) (-2,-5) and (-5,-2)

in the rectangular coordinate system.

o Watch Video Solution

2. In which quadrant does the following points lie ?

A. (5,2)

B. (-5,-8)

C.(-7,)

D. (8,-3)


https://dl.doubtnut.com/l/_9HihrCE1J86R
https://dl.doubtnut.com/l/_rLv3isjQzxJ1

Answer:

° Watch Video Solution

3. Write down the ordinate of the following points .

A. (7,5)

B.(2,9)

C. (-5,8)

D. (7,-4)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rLv3isjQzxJ1
https://dl.doubtnut.com/l/_mxn2FkRvXL5X

Additional Questions And Answers Exercise 5 2

1. Find the distance between the following pairs of
points.

(-4,0) and (3,0)

° Watch Video Solution

2. Find the distance between the following pairs of
points.

(-7,2) and (5,2)

° Watch Video Solution



https://dl.doubtnut.com/l/_dRCT37yTyjmu
https://dl.doubtnut.com/l/_Qw6bW8fxvokx
https://dl.doubtnut.com/l/_dSsIxWUouhYu

3. Show that the three points ( 4,2),(7,5) and (9,7) lie on

a straight line .

° Watch Video Solution

4. Deterime whether the points are vertices of a right

triangle A(-3,-4),B(2,6) and C(-6,10).

° Watch Video Solution

5. Show that the points (a,a), (-a-a) and

( — av/3, ay/3) form an equilateral triangle .

° Watch Video Solution



https://dl.doubtnut.com/l/_dSsIxWUouhYu
https://dl.doubtnut.com/l/_Wxx8FbrAMYaa
https://dl.doubtnut.com/l/_ANtQ7cLqqShl

6. Prove that the points (-7,-3),(5,10),(15,8) and (3,-5)

taken in order are the corners of a paralleogram .

° Watch Video Solution

7. Show that the following points A(3,1), B(6,4) and

C(8,6) lies on a straight line .

o Watch Video Solution

8. If the distance between the points (5,-2),(1,a) is 5

units . Find the value of a..

& ]


https://dl.doubtnut.com/l/_ANtQ7cLqqShl
https://dl.doubtnut.com/l/_g3uqeMWU3dVb
https://dl.doubtnut.com/l/_93fztZvCF69O
https://dl.doubtnut.com/l/_xrdQlxHogXtl

| ¥ Vvatch Video Solution |

Additional Questions And Answers Exercise 5 3

1. AB, and C are vertice of AABC, D, E and F are
mid point of side AB,BC and AC respectively. If the
coordinates of A, D and F are (-3,5),(51) and (-5,-1)

respectively. Find the coordinates of B,C and E.

° Watch Video Solution

2. If A(10,11) and B(2,3) are the coordinates of end
points of diameter of circle . The find the centre of the

circle .


https://dl.doubtnut.com/l/_xrdQlxHogXtl
https://dl.doubtnut.com/l/_WqTlPb5hQ6gi
https://dl.doubtnut.com/l/_fxyA8xD3MfTv

° Watch Video Solution

3. Find the coordinates of the point which divides the
line segment joining the points (3,1) and (5,13)

internally in the ratio 3 :5.

° Watch Video Solution

Additional Questions And Answers Exercise 5 4

1. Using section formula , show that the points

A(7,-5),B(9,-3) and C(13,1) are colliner.

° Watch Video Solution



https://dl.doubtnut.com/l/_fxyA8xD3MfTv
https://dl.doubtnut.com/l/_pQ0odUrUsKZh
https://dl.doubtnut.com/l/_HjZiWJwWRdSy

2. A car travels at an uniform speed. At 2pm it is at a
distance of 5 km at 6pm it is at a distance of 120Km.
Using section formula, find at what distance it will

reach 2 midnight.

o Watch Video Solution

3. Find the coordinates of the point which divides the
line segment joining the point A(3,7) and B(-11,-2) in

theratio5: 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_HjZiWJwWRdSy
https://dl.doubtnut.com/l/_U7XNET0tuIAx
https://dl.doubtnut.com/l/_5zya52dmvQAi

Additional Questions And Answers Exercise 5 5

1. Find the centroid of the triangle whose vertices are

(2,-5),(5,11) and (9,9).

o Watch Video Solution

2. If the centroid of a triangle is at (10,-1) and two
vertices are (3,2) and (5,-11). Find the third vertex of a

triangle .

° Watch Video Solution

Additional Questions And Answers Exercise 5 6



https://dl.doubtnut.com/l/_CYELUfo6fVIP
https://dl.doubtnut.com/l/_7sUijsnPmBK6

1. The point (-2,7) lies is the quadrant .

Al

B. I

C. 1

D. IV

Answer:

° Watch Video Solution

2. The point (x,0) where z < 0 lies on .


https://dl.doubtnut.com/l/_v8d5JF7TMFQg
https://dl.doubtnut.com/l/_PArZfejv8VLh

A. OX

B. OY

C.OoX'

D. OY

Answer:

o Watch Video Solution

3. For a point A(a,b) lying in quadrant Illl.

Aa>0b<0

B.a <0,b<0


https://dl.doubtnut.com/l/_PArZfejv8VLh
https://dl.doubtnut.com/l/_ywPOwmkmd5an

Ca>0,b>0

D.a <0,b>0

Answer:

° Watch Video Solution

4. The diagonal of a squar formed by the points (1,0),

(0,1) and (-1,0) is

A.2

B.4

D.8


https://dl.doubtnut.com/l/_ywPOwmkmd5an
https://dl.doubtnut.com/l/_0Y87A51zIlHE

Answer:

o Watch Video Solution

5. The triangle obtained by joining the points A(-5,0),
B(5,0) and C(0,6) is

A. an isoceles trinagle

B. right triangle

C.scalene triangle

D. an equilateral triangle

Answer:

[ ° Wiakt~hh \NAAA CAliikian



https://dl.doubtnut.com/l/_0Y87A51zIlHE
https://dl.doubtnut.com/l/_n6QeH8fxD2D6
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Unit Test Section A

1. The coordinates of the ponit C dividing the line

segment joining the point P(2,4) abd Q(5,7) internally

in the ratio 2 :1.

(3)
B.(3,5)

C.(4,4)

D. (4, 6)

Answer: D

f 1


https://dl.doubtnut.com/l/_n6QeH8fxD2D6
https://dl.doubtnut.com/l/_bbVCcXZGhgWZ

I ° Watch Video Solution

2.The point whose ordinate is 4 and which lies on the

y -axis is

A. (4,0)

B. (0,4)

C.(1,4)

D. (4,2)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bbVCcXZGhgWZ
https://dl.doubtnut.com/l/_MMmRUszshyxY
https://dl.doubtnut.com/l/_ONO4dQ6c7DTu

3. The ratio in which the x- aixs divides the line

segment joining the points (6,4) and (1,7) is

A2:3

B.3:4

C.4:7

D.4:3

Answer: C

o Watch Video Solution

4. The distance between the two points (2,3) and (1,4)


https://dl.doubtnut.com/l/_ONO4dQ6c7DTu
https://dl.doubtnut.com/l/_j4o6RW29ns7b

A.2
B. /56
C. /10

D. /2

Answer: D

° Watch Video Solution

5. The ratio in which the x-axis divides the line

segment joining the points A(aq, b;) and B(as, b) is

A. bl : b2

B.—bllbz


https://dl.doubtnut.com/l/_j4o6RW29ns7b
https://dl.doubtnut.com/l/_Tch6WllgNMMd

C.aj:as

D.—alzaz

Answer: B

° Watch Video Solution

Unit Test Section B

1. Plot the following points in the coordinate plane

and join the m . What is your conclusion about the
resulting figure ?
(i) (5-3) (-1,3) (0,3) (5,3)

(i1) (0,-4) (0,-2)(0,4) (0,5)


https://dl.doubtnut.com/l/_Tch6WllgNMMd
https://dl.doubtnut.com/l/_ZPZhq6IvEOUK

° View Text Solution

2. Determine whether the given set of points in each
case are colliner or not .

(7’_2),(591)9(3’4)'

° Watch Video Solution

3. Determine whether the given set of points in each
case are colliner or not .

(-2,-8),(2,-3),(6,2).

° Watch Video Solution



https://dl.doubtnut.com/l/_ZPZhq6IvEOUK
https://dl.doubtnut.com/l/_NzcGxhr6kQU1
https://dl.doubtnut.com/l/_X5VoDhT24S7A
https://dl.doubtnut.com/l/_W27fQcgx1l9F

4.1f AB,C are points (-1,1),(1,3) and (3,a) respectively and

if AB=Bc, then find 'a".

° Watch Video Solution

5.In which quadrant does the following point lie ?

° View Text Solution

6. Find the mid-point of the line segment joning the

points (-2,3) and (-6,-5).

° Watch Video Solution



https://dl.doubtnut.com/l/_W27fQcgx1l9F
https://dl.doubtnut.com/l/_or7EZjaVVlrX
https://dl.doubtnut.com/l/_B4eQPGe8llJO
https://dl.doubtnut.com/l/_61HL2eiPITy2

7. In what ratio does the point P(2,-5) divide the line

segment joining A(-3,5) and B(4,9).

° Watch Video Solution

8. Find the centroid of the triangle whose vertices are

(2,-4),(-3,7) and (7,2).

° Watch Video Solution

Unit Test Section C


https://dl.doubtnut.com/l/_61HL2eiPITy2
https://dl.doubtnut.com/l/_SgrglOWPIUfn

1. Locate the point (i) (3,5) and (5,3) (ii) (-2,-5) and (-5,-2)

in the rectangular coordinate system.

° Watch Video Solution

2. Plot the following points in the coordinate plane .
Join them in order. What type of geometrical shape is
formed ?

(i) (0,0) (-4,0) (-4,-4) (0,-4)

(i1) (-3,3) (2,3) (-6,-1) (5,-1).

0 Watch Video Solution



https://dl.doubtnut.com/l/_Pqs5ahdClSfr
https://dl.doubtnut.com/l/_FCDsL2qw6cpV

3. Prove that the points (-7,-3),(5,10),(15,8) and (3,5)

taken in order are the corners of a paralleogram .

o Watch Video Solution

4.1f the centroid of a triangle is at (4,-2) and two of its
vertices are (3,-2) an (5,2) then find the third vertex of

the triangle .

° Watch Video Solution



https://dl.doubtnut.com/l/_WylVHPyEkQPt
https://dl.doubtnut.com/l/_qzsTSe6pR7Ju

